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P8.11  (a) Fora 5-m cord the spring constant is described by F = kx, 7 7
mg = k(1.5 m). For a longer cord of length L the stretch % x
distance is longer so the spring constant is smaller in
inverse proportion:

_5Sm mg
L 1.5m

(K+U,+U,) =(K+U,+U,) Vo
: ! initial

=3.33mg/L

0+mgy,.+0=0+mgyf+5k_t§

; 4 FIG. P8.11(a)
e g i) mg »
mg(y,. —yf) = Ekxf = 53.33Txf

here y, -y, =55m=L+x,;

550 mL= %3.33(55.0 m-L)

55.0 mL=5.04x10° m*>-183 mL +1.671?
0=1.671%-238L+5.04x10°=0

y 238,238~ 4(1.67)(5.04x10°)  238+152
- 2(1.67) s e

only the value of L less than 55 m is physical.

25.8 m

® k=333 ZS’ng Xy =X, =550 m-258m=29.2m
ZF=ma +kx, —mg=ma
3338 292 m-mg=ma

25.8 m



